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9,850 40 2,430 2,760 1,390 1,290 1,130 550 70 28.1
1,560 10 710 350 160 220 30 40 20 10 17.3
2,070 20 480 730 310 200 220 90 - 20 25.8
2,560 20 630 750 320 310 290 190 20 30 27.3
1,480 - 220 440 280 170 250 10 60 - 34.8
1,730 - 350 300 260 350 220 150 70 20 41.6
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14206 /NEERT0 #2% 9,850 1,560 2,070 2,560 1,480 1,730 450 69. 56
14206 /NERT1 BE - EHRAH 40 10 20 20 - - - 38.45
14206 /NEET2 159K 2,430 710 480 630 220 350 40 56. 47
14206 /NEERT3 156~304 Kk 2,760 350 730 750 440 300 190 70. 46
14206 /NEERT|4 30~455 Kk 1,390 160 310 320 280 260 70 72.79
14206 /NEERT|5 4565 ~ 1 BRI 1,290 220 200 310 170 350 40 70. 85
14206 /NEET6 1 BERSN~ 1 BERA30 k8 1,130 30 220 290 250 220 110 87.71
14206 /NEERT|7 1 BREI305 ~ 2 BEFEI R 550 40 90 190 70 150 - 70.09
14206 /NEET8 2 BERELIE 180 20 - 20 60 70 - 89. 41
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INEERT0 % [ 34,590 480 6,670 9,610 4,870 4,100 4,650 2,740 840 30 30.7
INEERT0 #% 1 HBEXR 21,480 310 3,540 5, 680 3,210 2,580 3,350 2,080 680 50 35.5
INEERT0 #% 2 HHERLUS 13,120 160 3,130 3,930 1,670 1,520 1,300 660 170 580 26.3
INEERT0 #% 2111 NEDHER 490 20 100 190 60 90 40 - - - 25.3
INEERT0 #% 2112 SMHEEHE R - AHOER 90 - - 40 - 20 - 20 20 - 52.5
INEERT0 #% 2120 REMER 10,770 50 2,420 3,350 1,530 1,270 1,170 580 150 260 21.5
INEERT0 #% 2130 #51F=E 1,400 100 530 240 60 100 30 20 - 320 12.6
INEERT0 % 22 RIRE - EEUSNOEMICESE 370 - 90 120 20 40 60 40 - - 27.1
MEEHT B 0 #a 217,970 390 5,050 7,270 3,960 3,380 4,170 2,470 820 470 34.0
MEEHT B 1 HBEXR 18, 680 260 2,910 4,670 2,740 2,400 3,040 1,960 650 50 38.1
MEEHT B 2 HHERLUS 9,290 130 2,140 2,590 1,220 990 1,120 500 170 420 21.5
MEEHT B 2111 NEDHER 200 20 30 90 20 50 - - - - 24.6
MEETT B 2112 SHEEHE UR) - AHOER 90 - - 40 - 20 - 20 20 - 52.5
MHEEH1T B 2120 REMHER 1,750 50 1,730 2,160 1,170 810 1,040 420 150 220 28.8
MHEEH1T B 2130 #54F=E 890 60 290 190 40 60 30 20 - 200 14.7
MHEEH1 B 22 R - FELUSOBRMICEE 350 - 90 120 - 40 60 40 - - 25.9
INHET2 % 0 #% 6. 620 90 1,620 2,340 910 710 480 280 30 160 24.17
INHET2 % 1 HBER 2,790 60 630 1,000 470 180 310 120 30 - 25.6
INHET2 % 2 HHERLUSN 3,830 40 990 1,340 440 530 170 160 - 160 24.0
INHET2 % 2111 NEDHER 280 - 70 100 40 30 40 - - - 25.9
INHET2 % 2112 BB R) - AHOHER - - - - - - - - - - -
INHET2 % 2120 REMHER 3,010 - 690 1,180 360 460 140 160 - 40 25.2
INHET2 % 2130 #54F=E 510 40 240 50 20 40 - - - 120 10.0
INHE2 % 22 R - FEUSOBRMICEE 20 - - - 20 - - - - - 37.5




